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UNIT 8: 2-D GEOMETRY
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; ' T ical angles are
When two lines intersect, two pairs of VERTICAL ANGLES are forw
not adjacent. \'ertlcal anglcs are Iocated across from each other,

=7
Use a straight edge. S
Draw ray OC opposite to ray 0B ,and then 99

draw r1ym opposite to ray 0D.
Use what you've learned about the measure of 7 A 4_ (&)
straight angles to prove that the figure contains ., BOA = ,

two pairs of congruent angles. AZBOD = a‘ﬁ A =

o B A R
c Pairs of vertical angles always have the same measure,
B R o S ——

Vertical angles are COK@f Jeat (symbol hint =)
Congruent means they have the Same Megsuvé,

Set A: In the diagram, name the second angle in each pair of vertical angles

ey L RPS aver_LQPR
2) 2QPR_&V /5) re7_Z QPV
3)sse1_AMPQ ) zvps_£RPY

Set B: Use the information given in the diagram to find the
ﬁ measure ch unknown vertical angle.
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Set B Questions

1) mscaF = _ |¥3°
2) ma ARC NSO
3) maKC] = QS
4) msABG = _ 3D

5) maBQ =8
6) macaB= 29"

K

7) Figure ABC above is a T[ lﬁgﬁ.( ) (Ohhub

8) The proper notation for the figure is _A_A_BL
9) The sum of the angles in figure ABC is qs 5 6 + _So ._(3 &Q
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How to remember?
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Two angles arelg compler
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Complementary and supplementary angle pairs may beadjacent, but do not need to be.

A linear pair is a pair of adjacent angles that are supplemental'y sassanasvavey)
Below, the angles marked 32° and 148° are a lmear pairiees E
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Together, these angle pairs forma___ S ‘}"f’& \q At
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‘( These angles are: - These angles are:
\ COIprmgd{// \ Sdpplemeuk:r j
: Qo
PRACTICE: Calculate the measure of each unknown angle 7l 53
40 37 | Thesume
o 2.9 of all the
— | central
G B || o
(4 (R0)
’ X 0 %ﬂ' RO 360"
mmesumofangise+d+c= 214 119+ Yo = |¥D' m ()

Dmsa=_ 140! 5) mge = 2(

meb=_40" gmsr=_ |59

Imic=_ 4D’ Himsg= 0 2\
u)mw=_£lﬁ'_ B)msh=__ (ol

Verte) & Sdppt-emcdevY

9) miAOB = D2

10)ms cop = __|(g°

1msEoF = (b’

12)msAOH = _ 29
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